

BIDS - AUNE BRIDGE, C.R.B.P. No. 7005-05.76(3), AUGUST 30, 2010 @ 11:00 a.m.

ITEM NO.	DESCRIPTION	ESTIMATED QUANTITIES		ENGINEER'S ESTIMATE		HARRY JOHNSON		WILLIAM CHARLES WEST		A & R CONSTRUCTION		WESTWAY CONSTRUCTION	
		UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	MOBILIZATION	L.S.	1.00	\$ 40,000.00	\$40,000.00	\$20,000.00	\$20,000.00	\$65,720.00	\$65,720.00	\$28,000.00	\$28,000.00	\$55,000.00	\$55,000.00
2	CLEARING AND GRUBBING	L.S.	1.00	\$ 2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$22,732.00	\$22,732.00	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00
3	REMOVAL OF STRUCTURE AND OBSTRUCTION	L.S.	1.00	\$ 750.00	\$750.00	\$1,500.00	\$1,500.00	\$6,509.00	\$6,509.00	\$600.00	\$600.00	\$500.00	\$500.00
4	REMOVING EXISTING BRIDGE	L.S.	1.00	\$ 15,000.00	\$15,000.00	\$5,500.00	\$5,500.00	\$17,726.00	\$17,726.00	\$8,275.00	\$8,275.00	\$10,000.00	\$10,000.00
5	ROADWAY EXCAVATION INCL. HAUL	C.Y.	523.00	\$ 11.50	\$6,014.50	\$8.00	\$4,184.00	\$6.22	\$3,253.06	\$5.95	\$3,111.85	\$10.00	\$5,230.00
6	COMMON BORROW INCL. HAUL	TON	2,683.00	\$ 9.50	\$25,488.50	\$22.00	\$59,026.00	\$6.35	\$17,037.05	\$9.50	\$25,488.50	\$10.00	\$26,830.00
7	EMBANKMENT COMPACTION	C.Y.	1,342.00	\$ 4.50	\$6,039.00	\$2.00	\$2,684.00	\$2.20	\$2,952.40	\$1.70	\$2,281.40	\$1.50	\$2,013.00
8	CHANNEL EXCAVATION INCL. HAUL	C.Y.	200.00	\$ 15.00	\$3,000.00	\$10.00	\$2,000.00	\$11.10	\$2,220.00	\$9.30	\$1,860.00	\$6.00	\$1,200.00
9	FILTER BLANKET	C.Y.	52.00	\$ 30.00	\$1,560.00	\$20.00	\$1,040.00	\$28.75	\$1,495.00	\$38.50	\$2,002.00	\$45.00	\$2,340.00
10	HEAVY LOOSE RIPRAP	C.Y.	144.00	\$ 40.00	\$5,760.00	\$25.00	\$3,600.00	\$62.25	\$8,964.00	\$40.00	\$5,760.00	\$30.00	\$4,320.00
11	PLAIN ST. CULV. APPROACH PIPE 0.064 IN. TH. 24 IN. DIAM.	L.F.	97.00	\$ 58.00	\$5,626.00	\$39.00	\$3,783.00	\$38.50	\$3,734.50	\$40.00	\$3,880.00	\$45.00	\$4,365.00
12	STRUCTURE EXCAVATION CLASS A INCL. HAUL	C.Y.	440.00	\$ 15.00	\$6,600.00	\$12.00	\$5,280.00	\$4.83	\$2,125.20	\$17.40	\$7,656.00	\$25.00	\$11,000.00
13	SHORING OR EXTRA EXCAVATION CL. A	L.S.	1.00	\$ 5,000.00	\$5,000.00	\$500.00	\$500.00	\$5,965.00	\$5,965.00	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00
14	GRAVEL BACKFILL FOR WALL	C.Y.	201.00	\$ 50.00	\$10,050.00	\$30.00	\$6,030.00	\$35.50	\$7,135.50	\$80.00	\$16,080.00	\$35.00	\$7,035.00
15	ST. REINF. BAR FOR BRIDGE	LB.	14,531.00	\$ 2.25	\$32,694.75	\$1.00	\$14,531.00	\$0.85	\$12,351.35	\$1.30	\$18,890.30	\$1.25	\$18,163.75
16	SUPERSTRUCTURE	L.S.	1.00	\$ 250,000.00	\$250,000.00	\$184,000.00	\$184,000.00	\$149,340.00	\$149,340.00	\$161,000.00	\$161,000.00	\$160,000.00	\$160,000.00
17	CONC. CLASS 4000 FOR BRIDGE	C.Y.	115.00	\$ 775.00	\$89,125.00	\$425.00	\$48,875.00	\$400.00	\$46,000.00	\$626.00	\$71,990.00	\$750.00	\$86,250.00
18	CRUSHED SURFACING BASE COURSE	TON	978.00	\$ 20.50	\$20,049.00	\$21.00	\$20,538.00	\$15.90	\$15,550.20	\$24.00	\$23,472.00	\$16.00	\$15,648.00
19	CRUSHED SURFACING TOP COURSE	TON	1,057.00	\$ 20.50	\$21,668.50	\$21.00	\$22,197.00	\$17.00	\$17,969.00	\$26.00	\$27,482.00	\$13.00	\$13,741.00
20	COMMERCIAL HMA	TON	314.00	\$ 180.00	\$56,520.00	\$110.00	\$34,540.00	\$135.00	\$42,390.00	\$112.50	\$35,325.00	\$110.00	\$34,540.00
21	SAWCUT EXISTING BST	L.F.	44.00	\$ 10.00	\$440.00	\$10.00	\$440.00	\$3.25	\$143.00	\$4.80	\$211.20	\$2.50	\$110.00

BIDS - AUNE BRIDGE, C.R.B.P. No. 7005-05.76(3), AUGUST 30, 2010 @ 11:00 a.m.

ITEM NO.	DESCRIPTION	BIDDERS:		ENGINEER'S ESTIMATE		HARRY JOHNSON		WILLIAM CHARLES WEST		A & R CONSTRUCTION		WESTWAY CONSTRUCTION	
		ESTIMATED QUANTITIES	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
22	SILT FENCE	140.00	L.F.	\$ 10.00	\$1,400.00	\$ 3.00	\$420.00	\$ 4.20	\$588.00	\$ 6.25	\$875.00	\$ 5.00	\$700.00
23	ESC LEAD	20.00	DAY	\$ 100.00	\$2,000.00	\$150.00	\$3,000.00	\$165.00	\$3,300.00	\$200.00	\$4,000.00	\$50.00	\$1,000.00
24	SEEDING, FERTILIZING, AND MULCHING	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$3,190.00	\$3,190.00	\$2,600.00	\$2,600.00	\$2,000.00	\$2,000.00
25	BEAM GUARDRAIL NON-FLARED TERMINAL	4.00	EACH	\$ 3,000.00	\$12,000.00	\$2,500.00	\$10,000.00	\$2,630.00	\$10,520.00	\$2,500.00	\$10,000.00	\$2,450.00	\$9,800.00
26	BEAM GUARDRAIL TRANSITION SECTION TYPE T101	4.00	EACH	\$ 2,000.00	\$8,000.00	\$1,250.00	\$5,000.00	\$1,288.00	\$5,152.00	\$1,225.00	\$4,900.00	\$1,200.00	\$4,800.00
27	PAINT LINE	2,460.00	L.F.	\$ 1.00	\$2,460.00	\$ 2.00	\$4,920.00	\$ 0.85	\$2,091.00	\$ 0.42	\$1,033.20	\$ 0.75	\$1,845.00
28	PROJECT TEMPORARY TRAFFIC CONTROL	1.00	L.S.	\$ 6,000.00	\$6,000.00	\$2,500.00	\$2,500.00	\$4,060.00	\$4,060.00	\$3,300.00	\$3,300.00	\$13,500.00	\$13,500.00
29	WATER	100.00	MGAL	\$ 25.00	\$2,500.00	\$20.00	\$2,000.00	\$16.00	\$1,600.00	\$28.00	\$2,800.00	\$25.00	\$2,500.00
30	STRUCTURE SURVEYING	1.00	L.S.	\$ 9,000.00	\$9,000.00	\$2,100.00	\$2,100.00	\$2,305.00	\$2,305.00	\$3,650.00	\$3,650.00	\$2,500.00	\$2,500.00
31	ROADWAY SURVEYING	1.00	L.S.	\$ 7,000.00	\$7,000.00	\$4,600.00	\$4,600.00	\$6,140.00	\$6,140.00	\$7,200.00	\$7,200.00	\$6,000.00	\$6,000.00
32	REMOVE AND RESET EXISTING FENCE	500.00	L.F.	\$ 9.50	\$4,750.00	\$ 6.00	\$3,000.00	\$ 4.50	\$2,250.00	\$ 6.25	\$3,125.00	\$ 7.00	\$3,500.00
33	TRIMMING AND CLEANUP	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$3,215.00	\$3,215.00	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00
34	CONSTRUCTION GEOTEXTILE FOR SOIL STABILIZATION	375.00	S.Y.	\$ 5.50	\$2,062.50	\$ 2.50	\$937.50	\$ 1.60	\$600.00	\$ 2.50	\$937.50	\$ 2.50	\$937.50
35	MINOR CHANGE	1.00	CALC	\$ 1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
36	SPCC PLAN	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$500.00	\$500.00	\$455.00	\$455.00	\$850.00	\$850.00	\$250.00	\$250.00
37	TEMPORARY FENCE	500.00	L.F.	\$ 10.00	\$5,000.00	\$ 5.00	\$2,500.00	\$ 2.53	\$1,265.00	\$ 3.50	\$1,750.00	\$ 5.00	\$2,500.00
38	DETOUR CONSTRUCTION AND REMOVAL	1.00	L.S.	\$ 30,000.00	\$30,000.00	\$15,000.00	\$15,000.00	\$14,700.00	\$14,700.00	\$37,000.00	\$37,000.00	\$30,000.00	\$30,000.00
	BASIS OF AWARD: TOTAL BID ITEMS 1-38				\$703,558.75		\$502,226.50		\$512,744.26		\$536,786.95		\$553,619.25

BIDS - AUNE BRIDGE, C.R.B.P. No. 7005-05.76(3), AUGUST 30, 2010 @ 11:00 a.m.

ITEM NO.	DESCRIPTION	BIDDERS:		ENGINEER'S ESTIMATE		ML ALBRIGHT		HLT CONSTRUCTION		N.A. DEGERSTROM		D.L. EDMONDSON	
		ESTIMATED QUANTITIES	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	MOBILIZATION	1.00	L.S.	\$ 40,000.00	\$40,000.00	\$55,000.00	\$55,000.00	\$40,200.00	\$40,200.00	\$55,000.00	\$55,000.00	\$63,000.00	\$63,000.00
2	CLEARING AND GRUBBING	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00
3	REMOVAL OF STRUCTURE AND OBSTRUCTION	1.00	L.S.	\$ 750.00	\$750.00	\$800.00	\$800.00	\$2,000.00	\$2,000.00	\$150.00	\$150.00	\$4,000.00	\$4,000.00
4	REMOVING EXISTING BRIDGE	1.00	L.S.	\$ 15,000.00	\$15,000.00	\$3,000.00	\$3,000.00	\$12,500.00	\$12,500.00	\$4,900.00	\$4,900.00	\$15,000.00	\$15,000.00
5	ROADWAY EXCAVATION INCL. HAUL	523.00	C.Y.	\$ 11.50	\$6,014.50	\$7.80	\$4,079.40	\$8.00	\$4,184.00	\$13.50	\$7,060.50	\$2.00	\$1,046.00
6	COMMON BORROW INCL. HAUL	2,683.00	TON	\$ 9.50	\$25,488.50	\$14.30	\$38,366.90	\$15.00	\$40,245.00	\$10.00	\$26,830.00	\$22.00	\$59,026.00
7	EMBANKMENT COMPACTION	1,342.00	C.Y.	\$ 4.50	\$6,039.00	\$2.50	\$3,355.00	\$3.00	\$4,026.00	\$6.50	\$8,723.00	\$2.00	\$2,684.00
8	CHANNEL EXCAVATION INCL. HAUL	200.00	C.Y.	\$ 15.00	\$3,000.00	\$7.80	\$1,560.00	\$20.00	\$4,000.00	\$6.00	\$1,200.00	\$15.00	\$3,000.00
9	FILTER BLANKET	52.00	C.Y.	\$ 30.00	\$1,560.00	\$75.00	\$3,900.00	\$35.00	\$1,820.00	\$42.00	\$2,184.00	\$60.00	\$3,120.00
10	HEAVY LOOSE RIPRAP	144.00	C.Y.	\$ 40.00	\$5,760.00	\$72.30	\$10,411.20	\$35.00	\$5,040.00	\$64.00	\$9,216.00	\$100.00	\$14,400.00
11	PLAIN ST. CULV. APPROACH PIPE 0.064 IN. TH. 24 IN. DIAM.	97.00	L.F.	\$ 58.00	\$5,626.00	\$46.70	\$4,529.90	\$25.00	\$2,425.00	\$60.00	\$5,820.00	\$60.00	\$5,820.00
12	STRUCTURE EXCAVATION CLASS A INCL. HAUL	440.00	C.Y.	\$ 15.00	\$6,600.00	\$15.30	\$6,732.00	\$15.50	\$6,820.00	\$11.50	\$5,060.00	\$7.00	\$3,080.00
13	SHORING OR EXTRA EXCAVATION CL. A	1.00	L.S.	\$ 5,000.00	\$5,000.00	\$300.00	\$300.00	\$1,500.00	\$1,500.00	\$9,100.00	\$9,100.00	\$5,000.00	\$5,000.00
14	GRAVEL BACKFILL FOR WALL	201.00	C.Y.	\$ 50.00	\$10,050.00	\$35.00	\$7,035.00	\$40.00	\$8,040.00	\$37.00	\$7,437.00	\$50.00	\$10,050.00
15	ST. REINF. BAR FOR BRIDGE	14,531.00	LB.	\$ 2.25	\$32,694.75	\$1.28	\$18,599.68	\$1.10	\$15,984.10	\$1.40	\$20,343.40	\$1.00	\$14,531.00
16	SUPERSTRUCTURE	1.00	L.S.	\$ 250,000.00	\$250,000.00	\$164,204.20	\$164,204.20	\$180,000.00	\$180,000.00	\$191,000.00	\$191,000.00	\$205,000.00	\$205,000.00
17	CONC. CLASS 4000 FOR BRIDGE	115.00	C.Y.	\$ 775.00	\$89,125.00	\$638.00	\$73,370.00	\$700.00	\$80,500.00	\$630.00	\$72,450.00	\$350.00	\$40,250.00
18	CRUSHED SURFACING BASE COURSE	978.00	TON	\$ 20.50	\$20,049.00	\$19.70	\$19,266.60	\$18.00	\$17,604.00	\$19.00	\$18,582.00	\$20.00	\$19,560.00
19	CRUSHED SURFACING TOP COURSE	1,057.00	TON	\$ 20.50	\$21,668.50	\$19.70	\$20,822.90	\$20.00	\$21,140.00	\$19.50	\$20,611.50	\$22.00	\$23,254.00
20	COMMERCIAL HMA	314.00	TON	\$ 180.00	\$56,520.00	\$121.55	\$38,166.70	\$140.00	\$43,960.00	\$108.00	\$33,912.00	\$100.00	\$31,400.00
21	SAWCUT EXISTING BST	44.00	L.F.	\$ 10.00	\$440.00	\$6.00	\$264.00	\$4.00	\$176.00	\$6.00	\$264.00	\$10.00	\$440.00

BIDS - AUNE BRIDGE, C.R.B.P. No. 7005-05.76(3), AUGUST 30, 2010 @ 11:00 a.m.

ITEM NO.	DESCRIPTION	BIDDERS:		ENGINEER'S ESTIMATE		ML ALBRIGHT		HLT CONSTRUCTION		N.A. DEGERSTROM		D.L. EDMONDSON	
		ESTIMATED QUANTITIES	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
22	SILT FENCE	140.00	L.F.	\$ 10.00	\$1,400.00	\$4.75	\$665.00	\$3.00	\$420.00	\$5.00	\$700.00	\$6.00	\$840.00
23	ESC LEAD	20.00	DAY	\$ 100.00	\$2,000.00	\$500.00	\$10,000.00	\$100.00	\$2,000.00	\$50.00	\$1,000.00	\$250.00	\$5,000.00
24	SEEDING, FERTILIZING, AND MULCHING	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,200.00	\$2,200.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00
25	BEAM GUARDRAIL NON-FLARED TERMINAL	4.00	EACH	\$ 3,000.00	\$12,000.00	\$2,675.00	\$10,700.00	\$2,650.00	\$10,600.00	\$2,400.00	\$9,600.00	\$2,500.00	\$10,000.00
26	BEAM GUARDRAIL TRANSITION SECTION TYPE T101	4.00	EACH	\$ 2,000.00	\$8,000.00	\$1,500.00	\$6,000.00	\$1,300.00	\$5,200.00	\$1,175.00	\$4,700.00	\$2,000.00	\$8,000.00
27	PAINT LINE	2,460.00	L.F.	\$ 1.00	\$2,460.00	\$0.59	\$1,451.40	\$0.85	\$2,091.00	\$0.56	\$1,377.60	\$0.40	\$984.00
28	PROJECT TEMPORARY TRAFFIC CONTROL	1.00	L.S.	\$ 6,000.00	\$6,000.00	\$1,580.00	\$1,580.00	\$3,800.00	\$3,800.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00
29	WATER	100.00	MGAL	\$ 25.00	\$2,500.00	\$35.00	\$3,500.00	\$20.00	\$2,000.00	\$40.00	\$4,000.00	\$80.00	\$8,000.00
30	STRUCTURE SURVEYING	1.00	L.S.	\$ 9,000.00	\$9,000.00	\$3,500.00	\$3,500.00	\$2,400.00	\$2,400.00	\$2,100.00	\$2,100.00	\$5,000.00	\$5,000.00
31	ROADWAY SURVEYING	1.00	L.S.	\$ 7,000.00	\$7,000.00	\$3,500.00	\$3,500.00	\$6,200.00	\$6,200.00	\$5,600.00	\$5,600.00	\$8,000.00	\$8,000.00
32	REMOVE AND RESET EXISTING FENCE	500.00	L.F.	\$ 9.50	\$4,750.00	\$8.70	\$4,350.00	\$3.50	\$1,750.00	\$4.20	\$2,100.00	\$4.00	\$2,000.00
33	TRIMMING AND CLEANUP	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$150.00	\$150.00	\$3,000.00	\$3,000.00
34	CONSTRUCTION GEOTEXTILE FOR SOIL STABILIZATION	375.00	S.Y.	\$ 5.50	\$2,062.50	\$4.20	\$1,575.00	\$2.50	\$937.50	\$3.00	\$1,125.00	\$2.00	\$750.00
35	MINOR CHANGE	1.00	CALC	\$ 1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
36	SPCC PLAN	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$500.00	\$500.00	\$250.00	\$250.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
37	TEMPORARY FENCE	500.00	L.F.	\$ 10.00	\$5,000.00	\$9.00	\$4,500.00	\$3.00	\$1,500.00	\$4.00	\$2,000.00	\$4.00	\$2,000.00
38	DETOUR CONSTRUCTION AND REMOVAL	1.00	L.S.	\$ 30,000.00	\$30,000.00	\$24,870.00	\$24,870.00	\$35,500.00	\$35,500.00	\$31,700.00	\$31,700.00	\$50,000.00	\$50,000.00
	BASIS OF AWARD: TOTAL BID ITEMS 1-38				\$703,558.75		\$555,455.88		\$572,013.60		\$575,497.00		\$638,236.00

BIDS - AUNE BRIDGE, C.R.B.P. No. 7005-05.76(3), AUGUST 30, 2010 @ 11:00 a.m.

ITEM NO.	DESCRIPTION	BIDDERS:		ENGINEER'S ESTIMATE		CONWAY CONSTRUCTION		HARCON, INC.		MCALVAIN CIVIL CONST.	
		ESTIMATED QUANTITIES	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	MOBILIZATION	1.00	L.S.	\$ 40,000.00	\$40,000.00	\$64,000.00	\$64,000.00	\$65,000.00	\$65,000.00	\$140,000.00	\$140,000.00
2	CLEARING AND GRUBBING	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
3	REMOVAL OF STRUCTURE AND OBSTRUCTION	1.00	L.S.	\$ 750.00	\$750.00	\$185.00	\$185.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00
4	REMOVING EXISTING BRIDGE	1.00	L.S.	\$ 15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00
5	ROADWAY EXCAVATION INCL. HAUL	523.00	C.Y.	\$ 11.50	\$6,014.50	\$22.00	\$11,506.00	\$8.00	\$4,184.00	\$9.00	\$4,707.00
6	COMMON BORROW INCL. HAUL	2,683.00	TON	\$ 9.50	\$25,488.50	\$12.50	\$33,537.50	\$14.50	\$38,903.50	\$8.00	\$21,464.00
7	EMBANKMENT COMPACTION	1,342.00	C.Y.	\$ 4.50	\$6,039.00	\$3.50	\$4,697.00	\$2.50	\$3,355.00	\$15.00	\$20,130.00
8	CHANNEL EXCAVATION INCL. HAUL	200.00	C.Y.	\$ 15.00	\$3,000.00	\$20.00	\$4,000.00	\$8.00	\$1,600.00	\$8.00	\$1,600.00
9	FILTER BLANKET	52.00	C.Y.	\$ 30.00	\$1,560.00	\$29.00	\$1,508.00	\$75.00	\$3,900.00	\$34.00	\$1,768.00
10	HEAVY LOOSE RIPRAP	144.00	C.Y.	\$ 40.00	\$5,760.00	\$48.00	\$6,912.00	\$75.00	\$10,800.00	\$25.00	\$3,600.00
11	PLAIN ST. CULV. APPROACH PIPE 0.064 IN. TH. 24 IN. DIAM.	97.00	L.F.	\$ 58.00	\$5,626.00	\$50.00	\$4,850.00	\$47.00	\$4,559.00	\$40.00	\$3,880.00
12	STRUCTURE EXCAVATION CLASS A INCL. HAUL	440.00	C.Y.	\$ 15.00	\$6,600.00	\$17.00	\$7,480.00	\$16.00	\$7,040.00	\$9.00	\$3,960.00
13	SHORING OR EXTRA EXCAVATION CL. A	1.00	L.S.	\$ 5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00
14	GRAVEL BACKFILL FOR WALL	201.00	C.Y.	\$ 50.00	\$10,050.00	\$29.00	\$5,829.00	\$35.00	\$7,035.00	\$38.00	\$7,638.00
15	ST. REINF. BAR FOR BRIDGE	14,531.00	LB.	\$ 2.25	\$32,694.75	\$1.00	\$14,531.00	\$1.00	\$14,531.00	\$0.85	\$12,351.35
16	SUPERSTRUCTURE	1.00	L.S.	\$ 250,000.00	\$250,000.00	\$183,000.00	\$183,000.00	\$176,000.00	\$176,000.00	\$164,000.00	\$164,000.00
17	CONC. CLASS 4000 FOR BRIDGE	115.00	C.Y.	\$ 775.00	\$89,125.00	\$530.00	\$60,950.00	\$1,000.00	\$115,000.00	\$500.00	\$57,500.00
18	CRUSHED SURFACING BASE COURSE	978.00	TON	\$ 20.50	\$20,049.00	\$25.00	\$24,450.00	\$20.00	\$19,560.00	\$22.00	\$21,516.00
19	CRUSHED SURFACING TOP COURSE	1,057.00	TON	\$ 20.50	\$21,668.50	\$38.00	\$40,166.00	\$22.00	\$23,254.00	\$21.00	\$22,197.00
20	COMMERCIAL HMA	314.00	TON	\$ 180.00	\$56,520.00	\$152.00	\$47,728.00	\$108.00	\$33,912.00	\$130.00	\$40,820.00
21	SAWCUT EXISTING BST	44.00	L.F.	\$ 10.00	\$440.00	\$1.00	\$44.00	\$6.00	\$264.00	\$56.00	\$2,464.00

BIDS - AUNE BRIDGE, C.R.B.P. No. 7005-05.76(3), AUGUST 30, 2010 @ 11:00 a.m.

ITEM NO.	DESCRIPTION	BIDDERS:		ENGINEER'S ESTIMATE		CONWAY CONSTRUCTION		HARCON, INC.		MCALVAIN CIVIL CONST.	
		ESTIMATED QUANTITIES	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
22	SILT FENCE	140.00	L.F.	\$ 10.00	\$1,400.00	\$ 3.30	\$462.00	\$5.00	\$700.00	\$7.00	\$980.00
23	ESC LEAD	20.00	DAY	\$ 100.00	\$2,000.00	\$ 75.00	\$1,500.00	\$100.00	\$2,000.00	\$600.00	\$12,000.00
24	SEEDING, FERTILIZING, AND MULCHING	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$3,200.00	\$3,200.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
25	BEAM GUARDRAIL NON-FLARED TERMINAL	4.00	EACH	\$ 3,000.00	\$12,000.00	\$2,500.00	\$10,000.00	\$2,500.00	\$10,000.00	\$2,700.00	\$10,800.00
26	BEAM GUARDRAIL TRANSITION SECTION TYPE T101	4.00	EACH	\$ 2,000.00	\$8,000.00	\$1,250.00	\$5,000.00	\$1,200.00	\$4,800.00	\$1,300.00	\$5,200.00
27	PAINT LINE	2,460.00	L.F.	\$ 1.00	\$2,460.00	\$0.60	\$1,476.00	\$0.50	\$1,230.00	\$1.00	\$2,460.00
28	PROJECT TEMPORARY TRAFFIC CONTROL	1.00	L.S.	\$ 6,000.00	\$6,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$3,600.00	\$3,600.00
29	WATER	100.00	MGAL	\$ 25.00	\$2,500.00	\$70.00	\$7,000.00	\$35.00	\$3,500.00	\$6.00	\$600.00
30	STRUCTURE SURVEYING	1.00	L.S.	\$ 9,000.00	\$9,000.00	\$2,700.00	\$2,700.00	\$5,000.00	\$5,000.00	\$2,400.00	\$2,400.00
31	ROADWAY SURVEYING	1.00	L.S.	\$ 7,000.00	\$7,000.00	\$2,700.00	\$2,700.00	\$5,000.00	\$5,000.00	\$6,300.00	\$6,300.00
32	REMOVE AND RESET EXISTING FENCE	500.00	L.F.	\$ 9.50	\$4,750.00	\$4.00	\$2,000.00	\$15.00	\$7,500.00	\$7.00	\$3,500.00
33	TRIMMING AND CLEANUP	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$1,700.00	\$1,700.00	\$7,000.00	\$7,000.00	\$5,500.00	\$5,500.00
34	CONSTRUCTION GEOTEXTILE FOR SOIL STABILIZATION	375.00	S.Y.	\$ 5.50	\$2,062.50	\$6.00	\$2,250.00	\$4.25	\$1,593.75	\$6.50	\$2,437.50
35	MINOR CHANGE	1.00	CALC	\$ 1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
36	SPCC PLAN	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$7,600.00	\$7,600.00
37	TEMPORARY FENCE	500.00	L.F.	\$ 10.00	\$5,000.00	\$2.40	\$1,200.00	\$10.00	\$5,000.00	\$4.50	\$2,250.00
38	DETOUR CONSTRUCTION AND REMOVAL	1.00	L.S.	\$ 30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	\$33,000.00	\$33,000.00	\$80,000.00	\$80,000.00
	BASIS OF AWARD: TOTAL BID ITEMS 1-38				\$703,558.75		\$645,562.50		\$649,722.25		\$699,423.85